Balole deb additions en coformes

Prénom :

date :
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26,

132+43= ...
ye A
1 3
+ 4
21+252= ...
ye A
2
+ 2 5
4+131= ...
ys Y. A
4
+ 1 3 1
130+2= ...
ys y.) "
1 3 0
+ 2

251+24= ... 31+346 =
s ye) A ). A
2 5 1 3 1
2 4 + 4 6
O, ...
90+104 = Q 243+124 = ...
ys ye) A ). A
9 0 4 3
1 0 4 2 4
6+202= .. 12+146 =
ys ye) A ). A
6 1 2
2 0 2 4 6
403+13= ... 254+104= ...
s ye yn Y. A
4 0 3 5 4
1 3 0 4
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Balole deb additions en coformes

26,

Prénom :

date :
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464323 = ...
y. A
4 6
2 3
79+310= ...
y. A
7 9
1 0
136+352= ...
y. A
202+24 = ...
y. 8 A

624217 = .. 62445= ...
yh A o yh A
6 | 2 6 | 2 | a
+ 1 | 7 5
0.
30+268= ... ™ i v 142+4324= .
y
yh " o y. " A
3 | o0 1 | 4 | 2
+ 6 | 8 3 | 2 | a4
1514247 = ... 320+259= ...
yh A o y.h A
+
4254+32= ... 46345= ...
yh A o y ym
+

K *https://www.logicieleducatif.fr




Prénom :

date :
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214356 = ...
£ dl A
2 1
+ 3 5 6
123+435= ...
L dl Al
452+307 = ...
L dl A
480+16= .........
o ad

407+72 = ... 63+205= ...
o d A d
4 0 7 6
7 2 0
327+251= ... 120+32= ...
o d A d A
;Q%\'”Q ) y
148+41= . y * = 274+4= .
o y. 8 AV ‘ d AV
18+370= ... 67+432 = ...
o d AL y. 8 AV
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75+314 = ... 284+413 = ...
p d o a A
7

3 1
621+48= ... 576+321= .. ...
p d o d A
546+42 = ... 178+311= ...

o d A o d A

1 ,\0:.) | i
408+71= ... ’ 90+308= ...
p d AV < y. § A

33345 = ...
4 AL
59+340= ...
4 AL
648+230= ...
Y. A
504+295= ...
d A

K *https://www.logicieleducatif.fr




date :
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408+341 = ....... 603+32= ....... 224505= ...
y. " T < d A y. " "
)
170+622 = ¢ s “ 410+370= ... 201+18= .......
.......... \
yeh A o Y. " y. " A
'[ 3 "
74520 = ... 2204340 = ... \ ’3 6+471= ...
.

d m o y AL Y. A
54723 = ... 145451 = .. 622+4311= ...
Y. A o d ym yh A
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132+43 =175 251+24 = 275 31+346 =35

o ). " Y y A Y ). A

1 3 2 2 5 1 3 1
+ 4 3 + 2 4 + 3 4 6

1 7 5 2 7 5 3 7 7

214252 =273 90+104 = 194 4 243+124 =367
o d AL o d A T o d A
2 1 9 0 2 4 3
+ 2 5 2 + 1 0 4 +| 1 2 4
2 7 3 1 9 4 3 6 7
4+131 =135 6+202 = 208 12+146 = 158
o A A o d A P d A
a4 6 1 2
+1 1 3 1 +| 2 0 2 +| 1 4 6
1 3 5 2 0 8 1 5 8
130+2 = 132 403+13 =416 2544104 = 358
o d A o d A o d A
1 3 0 4 0 3 2 5 4
+ 2 + 1 3 +| 1 0 4
1 3 2 4 1 6 3 5 8
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62+217 = 279 624+5 =629 46+323 = 369
ys A A y 4 m yo y.h yn
6 2 6 2 4 4 6
+ 2 1 7 + 5 + 3 2 3
2 7 9 6 2 9 3 6 9
&
{° 3
30+268 =298 - i;o ; 142+324 = 466 79+310 =389
ys Y-} AV g y yh ™ o y.h yn
3 0 1 4 2 7 9
+ 2 6 8 + 3 2 4 +| 3 1 0
2 9 8 4 6 6 3 8 9
151+247 =398 320+259 =579 136+352 =488
ys A A o y.h A o y.h "
1 5 1 3 2 0 1 3 6
+ 2 4 7 + 2 5 9 +| 3 5 2
3 9 8 5 7 9 4 8 8
425+32 = 457 463+5 = 468 202+24 =226
ys A A ys ye) A o A A
4 2 5 4 6 3 2 0 2
+ 3 2 + 5 + 2 4
4 5 7 4 6 8 2 2 6
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21+356 = 377 407+72 = 479 63+205 = 268
o 4 " o 4 o s . A
2 1 4 0 7 6 3
+| 3 5 6 + 7 2 + 2 0 5
3 7 7 4 7 9 2 6 8
123+435 = 558 327+251=578 120+32 =152
o d AL o d A o d A
1 2 3 3 2 7 1 2 0
1 4 3 5 +1 2 5 1 + 3 2
5 5 8 5 7 8 1 5 2
K.
452+307 = 759 148+41 = 189 y * = 274+4 =278
e | 4 | u e | 4 | o | o [ A | &
4 5 2 1 4 8 2 7 4
+1 3 0 7 + 4 1 + 4
7 5 9 1 8 9 2 7 8
480+16 = 496 18+370 = 388 67+432 = 499
o d A o d A o d A
4 8 0 1 8 6 7
+ 1 6 +] 3 7 0 +| 4 3 2
4 9 6 3 8 8 4 9 9
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75+314 = 389 284+413 = 697 33345 =338
4 " o 4 o s . A
7 5 2 8 4 3 3 3
1 4 +| 4 1 3 5
8 g 6 9 7 3 3 8
621+48 = 669 576+321 = 897 59+340 =399
d AL o d A o d A
2 1 5 7 6 5 9
4 8 +] 3 2 1 3 4 0
6 g 8 9 7 3 g g
546+42 = 5388 178+311 =489 648+230 = 878
d A o d A P d A
4 6 1 7 8 6 4 8
4 2 +1 3 1 1 2 3 0
8 8 4 8 9 8 7 8
&y
408+71=479 \ ’ 90+308 = 398 504+295 = 799
4 o 3 d " o y: A
0 8 9 0 5 0 4
7 1 +| 3 0 8 2 9 5
7 g 3 9 8 7 9 9

éﬁ.
W
|4
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408+341 =749

d

ys A
4 0 8
3 4 1
7 4 9 ‘
No
170+622 = 792 Y | *
N\
ys A yn
1 7 0
6 2 2
7 9 2
74520 =527
ys ). T
7
5 2 0
5 2 7
5+723 =729
ys ). v
6
7 2 3
7 2 9

603+32 =635
o ). A
6 0 3
3 2
6 3 5

-

410+370= 780

o A
4 1 0
3 7 0
7 8 0

220+340 =560

o A T
2 2 0
3 4 0
5 6 0
145+51 =196

o yh T
1 4 5

5 1

1 9 6

-+

>

~

4

22+505 =527
Y ). A
2 2
5 0 5
5 2 7
201+18 =219
o ). A
2 1
1 8
2 1 9
0
2 6+471 =477
o ). A
6
4 7 1
4 7 7

622+311 =933

y.)

Ojw | o

2
1
3

Wl | N | &
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